TBITEF=E 6.1 3ETHR

RFOFE FARPILE —FFR
=]

2 = S R S TRE
B TE% . HiR%F & % % sc
Bl & Bif % oTororererel v | ¥ ALT
FER SOTARBEMES BT[RZ2[H3[H4] A5] T/ — K
I | A 3 | (= F—, TR O |BI|A2| B3| A4|A5| /| X |16:00
BI|R2|A3|A4| A5 / VICT
BEMZBM~ 148 GterD K[ k2| k3| k4| K5] k6 =)SC
2 |k 33t AR R A5 1R VHHEEEMEETE O [XKI| k2| K3| k4| K5| k6] O [ 17:00 HERMARE
#ERKO CRGBEEREELEETS K| Kk2| k3| K4| K5| k6 a/N—Fk
KT|K2[K3|K&|K5| K6 o/ —F
3| K 3 | HKEEHKO AR PREEQ (BH) O [KI|K2|K3|K4|K5|K6] O [ 17:00
CRABERBEEHE S K| K2|K3|Ka4|K5|Ké
BB AR 28 X | RU|R2[ R3] /| /] / 11:30 EHSC
4 | K 33 | LARERGHE GE)WLE V SVERHE (F+') TR BK) X | M| R K| K| B HB| X [x3: HERIEKE
| FHHREL TR X | R R R KR BB BitE ~NY)
BB HER (25) EFREOD O [&1]|&2|&3]|&4]&5| &6 ~)
5| & 33 | 1,3FEBRHY X | M| KRB | KL HL|HK| O|I17:30
BEANARET O |&1|&2|£3|&4| 25|46
6 | £
7| B .
AR
S—FHEAQ® BT R2[R3[A4| /| ./ Y e
8 | A 43 | KBHRO O |BI|R2|R3|R4| /| /| x |1410 ~1)
BI|R2|R3|R4| /| /
THREZBERFE (F&) KITTk2] k3] k4] K5] k6 ~T)
9 | X 43 | HERHKOG O [KI| k2| K3| k4| K5 k6] O [ 17:00
K| K2 K3| K4 | K5| k6 VICT
KFHROQ VHXRAILHFIvE K1[7K2|K3|K4| K5 K6 EARAEKE
10| K 43 | HBEHRBO O | K1 |xK2|K3|Kka4|k5|xk6] O | 17:00 Al
& EWR G K1 |K2|K3|K4|K5|Ké
AI|R2]| R3[| R4| K5| K6 ~N)
I AR 43 HERHKOG O | KRI|AKR2| K3|AK4| K5|K6| x [15:30
Al | A2| R3| K4| K5| K6 16:10
RERG VBEZEZ REREAREZECAMES 21 %&2|&3|&4| 25|26 ~T)
12| & | 43 | HEHEHKO O |&1| &2 &3|&4|&5|&6|] O | 17:00
&1 | &2|£3|&4| 85|86
G P AR (1R ER - 37 1KER)
13| £
REEIVI-LRIERE
14| 8
- 10)z]
15| A N
B
BB (FREE SR S4IAIT) k2| k3| k4| k5] k6| ~T)
16| x| S5 O | k2| k3| k4| k5| k6| /| x |15:00
RIS k2| K3| K4| k5| k6| /
KTTK2|K3|Ka4|K5]Ké BERMA%E
17 | K SHE O |[k1|k2|k3|Ka4|K5|Kk6] O |17:30 Al
K| K2|K3|Ka|K5|Ké
FINEEIATRD AIT|R3|KR4|AKR5] 7 | 1T a/3—h
18 | & 53t O [KRI|AR3|KR4| A5 47| 17| O | 17:00
AWRER AI|R3| KR4| K5| 17 | 1T
Y YW= ]E]
19 | &
B ARAE28 B
20 | £
e S =
21 | B
BB EFHER
22 | B N
AR
B EREN - =& @R BI|B3[A4| A5 ERREIRE
23| X I 3E (B)DERE O |BRI|A3|R4|R5| /| /| O |I5:10
HXBEHEZER14:40~ AI|A3|R4|RA5| /| /
BrREREM =& BKOQ KTTK4| K5 K6[ /
24 | K I 3E O |x1|xka|%k5|%x6| /| /| O |15:10
KI|Ka|K5|K6| /| /
BrREREM ZE@KO AITR2]| R3[| KR6] /
25| & | 3% O | KRI|KR2|KR3|K6| /| /| x [13:50
KI|AR2|K3|K6| /| /
HREX &1 &5 17 | 86| /
26 | & 13 |BmREM ZEBRO O |&l|&5| 17 |&6| /| /| O [I5:10
& | &5 17 |&6| /| / VICT
B SIRERLS
27 | £
28| B
BrRREM =& @KO
29 | A
FREE 2R OMEH(EHE L)
30 | k
31| K
AICT
el | % iT ERCES:
87 3 q0
171 87 3 90 17
87 3 q0




